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Year 12 Specialist

a PERTH MODERN SCHOOL TEST 2
Exceptional schooling. Exceptional students 201 8
o065 ndependent pubiicschool TIME: 5 mins reading 40 minutes working

Classpads allowed!
36 marks 8 Questions

Name: QL(LTION%

Teacher:

Note: All part questions worth more than 2 marks require working to obtain full marks.

Q1 (2 & 2 = 4 marks)
Consider f(x)=x3 —x2 +4x—-4.

i) Show that(x—Zi) is a factor of f (X
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Q2 (5 marks)

Consider f(x) = x" +bx’ + cx +8 where b & ¢ are constants. Given that (X +2) is a factor
of f(x) and when f(x)is divided by (x — 3) has a remainder of —1 (. Determine b & c.
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Given that f(x) =+x+2 and g(x) =5x—3.Does f o g(x) exist over the natural
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Q4 (2 & 2 = 4 marks)
1

Given that f(x) = \/; and h(x) = 21 5: ,/54‘(:.‘\{1' (u\*
i) Determine the rule of /1 of(x) _____\_____ \/Q"c%f?’ gim? \cne)\ [M\L
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Q5 (3 & 3 = 6 marks)

i) On the diagram, sketch the inverse function fﬁl (x)
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1
ii) On the diagram below, sketch J = o ’B
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Q6) (1, 1, 2 & 2= 6 marks)
cx+d

Consider the function f(x) = where a,b,c & d are non-zero constants.

ax+b

i) Determine the natural domain of f ‘o
A

i) Determine the limit that f approaches as X —> o0 c /
Y=o =

A
i) Determine the inverse function f interms of a,b,c & d . \/M-‘{,(LM e
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iv) Determine the possible values of a,b,c & d if [ = fﬁ1 :
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Q7 (4 marks)

-5
Consider the equation |2x + 5! = plx + q‘ =+ ¥ which is true and only true for 7 <x<3.

Determine the possible values of the constants p,q & 7.
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Q8 ( 4 marks)
. 1 ]
Let z = c0S(26) +isin(260) , prove that — - = —
l-z tané

LUl = ¢os20 + 1 3 aa2® (|_,(09’2@> 4 4 Sn2O
I-ose®) TASNTE
| — 0s20  — 1£1220 (1=tot20) + 48420

- (\+(o§29§(\-—60320) «-*SUEZG -+ £ 51028 (23

e

(=20} + s 20
— ) =@ -8iA20 206420

[S———

2
l — D es® + os° 200 + S Y,

- 2 'LSM?—@
2 - ?c‘oSZ@

B {S(AZCQ ((012(9'-1 i‘25t3@>
Pt @
\/muihpl;ﬂ \95 (Oﬁbuf]AL GJ;_ J@namm&kw
- 2 {’SV\CQ COS(Q \/ f\'lau.)s ‘l\(\&_—\’ tEEuur(/\ﬁ (\L{d‘iércﬁgar
2 a0 Sn CQ \3 (omp'éx )
~ ( (.og@ \/ 0\0'\0‘&'\& é’xewsmon a Jfé“’a °
—?::\‘CQ @ [O») “Sm’i Heaal-t Aney
—(arm-ua‘{,
= A o
— e 129



